h1% R

#13E P. 51~53 fEa

W -7 @ -9 B0 4 6 (5 16 6 -8
@ -5 @ 8 O -9
(=5)+(=2)=-(5+2)

=-7
(+8)+(—17)= —(17—8)

=-9
(—13)+(+13)=0
(=2)—(+4)=(=2)+(-4)

=—(2+4)

=—6
(+9)=(=7)=(+9)+(+7)

=16
(+10)—(+18)=(+10)+(—18)

=—(18—10)

=-8
9—-14=-5
—12423-3=—-12—-3+23

=—15+23

=8
5—(—6)—20=54+6—20

=11-20

=-9

1 —44 (2 54 (3 —25 (@ —% (5) —% (6)

@

)

)

—
[
=

1 —36 @ 60 @ -7 ¢

(=1.3)+(-31)=—(1.3+3.1)

=—44
(+4.2)—(—1.2)=(+4.2)+(+1.2)
=54
5—-75=-25
(22
3
75

5 2 15
B BT I T
_n
=718

—104 (5) —15  (6)

(7) 16 8 —5%4 (9 —4
(+9)X(—=4)=—(9%x4)

— 36
(—12)X (—5)= +(12x5)
—60
(—7)x11= —(7x 11)
—_77
13%(—8)= —(1.3%8)

— 104
—24><%=—(24><%>
—_15
< 125>X%= (%X%>

__ 1
12
(=)= (—4)x(—4)
~16
(—6)x32=(—6)x9
— 54

11

18

Hme @ -7 B -4 @ -7 6 -

4
1) (=18)+(=3)=+(18+3)
=6
2) (+49)=(=7)=—(49+7)
3) (—72>+18=—=<7_27+18)
4) (—84)—1.2_=_—4(8.4+1.2>
=-7
(5) %+(—10)=%x<—%>
3k
-_1
4
6 (=35 (2)=(~15)x(~5)
=+(15> 1)
a
12

Hm -2 @ 8 (B —=

2

(1) (=5)x10+25=(—50)=25
=2

@) 62-+(—9)X(—2)=36-(—9)X(—2)
=(—4)X(-2)
=8

2.8 (2 2 21 [ 2

® 7Tﬁx<_§> 7X8X< 3>
- (2xZx2)
=-\7 3
__ 1
)

@ mE (1) —22 2 15 (3) —33 4 —9
1) (=2)X5+4x(=3)=—10+(—12)

=-22
(2) 7T=3%X(—=6)+(—-10)=7—(—18)+(—10)
=7+18-10
=15
3) 8X(—=3)—(—36)=(—4)=—-24-9
=-33
@) (=3°—(=2)x9=—-27—(—18)
=-27+18

=-9




1KY RS %1% P 51~53 R

1 =OREA %1 =OREB
(1) 1EH A&A, 2[BH B&A, 3EHB&A, 4HHA SA 1 5 (2 23
2 Bxn (1) (=2P+{=22—(=T7)}+3=4+(—4+7)+3
A SAE BESADFEDRRITTORD L S22 D, =44+3+3
1[EA | 2EA | 3EH | 4EH =4+1
ASAOfE| +5 | —6 | —4 | +3 =5
BaAofm| +2 | -2 | +7 | -8 @ 5—(—4)2+<—%>—(—6)+0.5=5—16><(—%)—(—6)+%
1) #EOBET =5—(—6)—(—6)x2
LEIARNA S, 2[EHABSA, 3EANBSA, 4EAMNA SA 546 (—12)
TH2, B =5+6+12
@ A SAOBFEAI 3

(+5)+(=6)+(—4)+(+3)=-2
B SADEEFAIT
(+2)+(=2)+(+7)+(-8)=—1
£oT, BEIEIBIATHD,

75 (1) WOTHLELWEITZWZRY, Bl) (—6)+(+2)=—4
@ VWHOTHELW,
B) WOTHELWEIFWRARW, (B) (45 —(—1)=+6
1) VWOTHELLEENZAL,
O —s&l @ L0 1 @ —6 —BlC H2ELTE, HARAOK —4ITR B,
@ P P @ LHOTHELL,
o - 3 VOTHIELNE LA,
FED —1 2O &, BT H6 L7420, +5 L0 Kx< A5,

Il I (V2 Il 1 i

7 —6-5-4-3-2-10 1
BEH LD, —2 55 OB 3 Th B EIT
51
(@) HoRHEAS L5 & 0 /NS WERIE, KHEZS 0 & 1 O CTh D,
Lz#sT —1, 0, 1

Do+
w

[6] ®8 (1) AWR (2) HMER 18°C, THEH 14°C
(1) HHEBICOWT, HIEHORERREE DLW

3 —B—(—2)=—8+2 AWEH +3C
_ 6 KIBA  (+3)+(—1)=+2(C)
KR (+2)+(—4)=-2(C)
AIEH (—2)+(4+2)=0(C)
w= 1) -1 (2 —4 (3 2 @3 (6 7 ® —128 7 -8
28; N 2) 3) 4) ) (6) ) GIE 0t(+1)=+1(C)
1) 5—((—2)+8]=5_6 TR (+1)+(=5)=—-4(C)
_ $oT, BMKRSAMALFLAE, ARATHS,
B 2 BIREAOEESEIT 16—(—2)=18(C)
@) 12—(—6)+<—15)—7:1182+;52—15—7 W ORI 184 (—4)=14(C)
=—14
3) (=30)=6X(—5)=+(30=6x%5)
=25
4\ 10 ./ 8\ [ 4\ 10 [ 9
W (~5)x5+(~9)=(-5)3x(-3)
410 _9
=+<€XTX§>
=3
(5) 124(—15)=3=12+(—5b)
=7
6) 4°X(3—5)=64%(—2)
=—128
(M) 4=(=2)X(=3)=4—(-4)X(-3)
=4-12
=-8
. 1\ _ . 1
®) 8—(—4)27<—7>_8—167<—E>
=8—16X(—2)
=8—(—32)
=8+32

=40




